








BOX METHOD
	
	

	
	




F








O



I



L

FOIL






BOX

	Simplify Each Product.  Write your answer in standard form. 
(x + 3)(2x – 5)


	Simplify Each Product.  Write your answer in standard form.  
(x + 3)(2x – 5)



	Simplify Each Product.  Write your answer in standard form.  
(3w + 4)(2w – 1)

	Simplify Each Product.  Write your answer in standard form.  
(3w + 4)(2w – 1)


	Simplify Each Product.  Write your answer in standard form.  
(3s – 4)(s – 5)

	Simplify Each Product.  Write your answer in standard form.  
(3x + 7)(x + 5)

	Simplify Each Product.  Write your answer in standard form.  
(5x – 2)(x + 3)

	Simplify Each Product.  Write your answer in standard form.  
(a – 6)(a + 8)

	Simplify Each Product.  Write your answer in standard form.  

(2r + 1)(3r – 1)

	Simplify Each Product.  Write your answer in standard form.  

(k + 4)(3k – 4)

	Simplify Each Product.  Write your answer in standard form.  

(p – 4)(2p + 3)

	Simplify Each Product.  Write your answer in standard form.  

(x + 7)(x + 5)

	Simplify Each Product.  Write your answer in standard form.  

(6x – 11)(x + 2)

	Simplify Each Product.  Write your answer in standard form.  

(2x + 1)(4x + 3)


	Simplify.  Write your answer in standard form.  

(2x 3 - 4x2 + 3) + (x3 - 3x2 + 1)

	Simplify.  Write your answer in standard form.  

(2a3 + 3a2 + 7a) + (a3 + a2 - 2a)

	Simplify.  Write your answer in standard form.  

(x2 - 6) + (5x2 + x - 3)

	Simplify.  Write your answer in standard form.  

(2x2 + 9x - 17) + (x2 - 6x - 3)

	Simplify.  Write your answer in standard form.  

(3 – x3 - 5x2 ) + (x + 2x3 - 3)

	Simplify.  Write your answer in standard form.  

(3x3 + 7x2) + (x2 - 2x3)

	Simplify.  Write your answer in standard form.  

(3y2 - 5y - 7) + (y2 - 6y + 7)

	Simplify.  Write your answer in standard form.  

(4x2 + 13x + 9) + (12x2 + x + 6)


